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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No

App No

Name

Paper/Subject D.El.cuwdia)
Exam Date 31 May 2023
Exam Slot 3

The below given three questions are based on a short passage. Read the passage below to
answer the questions. Choose the correct answer from the four listed choices.

About 377 million Indians comprising about 31 per cent of the country’s population, live in
urban areas according to Census 2011. This is a smaller proportion compared to other large
developing countries, for example, 45 per cent in China, 54 per cent in Indonesia, 78 per
cent in Mexico and 87 per cent in Brazil. With the more rapid growth of the Indian economy
in recent years, which is expected to continue, the rate of urbanization will increase.

Urbanization will be central to India’s strategy of achieving faster and more inclusive
growth because agglomeration and densification of economic activities (and habitations) in
urban conglomerations stimulates economic efficiencies and provides more opportunities
for earning livelihoods. Thus urbanization increases avenues for urban development
entrepreneurship and employment compared to what is possible in dispersed rural areas.

The High Powered Expert Committee (HPEC) under the chairpersenship of Judge Dr. Isher
Ahluwalia has observed that the fortunes of the agricultural sector are crucially linked to
the manner in which growth in the industry and services sectors unfolds. People living in
rural areas typically tap the opportunities that cities provide for employment,
entrepreneurial avenues, and education.

As urbanisation grows, demand for food items other than food-grains, that is, vegetables,
lentils, milk, eggs and so on, also grows. This leads to investments in infrastructure,
logistics, processing and packaging in rural and peri-urban areas. Such investments and
other economic inter-linkages connect and build synergy between rural and urban centres.
Thus the rural sector also benefits from good management of neighbouring urban

conglomerations.
Passage:

Question ID:6011

Topic Name:SECTION-I English Language

Question:

Why does author feel, “Urbanization will be central to India’s strategy of achieving faster and

more inclusive growth”?

A Because India has a high population

B Because there is densification of economic activities (and habitations) due to urbanization Correct Answ

€ Because the agricultural sector is linked to other sectors

‘
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D Because more people in India live in rural areas

Answer Given By Candidate:B

Question ID:6012
Topic Name:SECTION-I English Language
Question:

Which of the following may support author’s claim that ‘urbanization will accelerate growth of
the rural sector also’?

A g . " .
Because maximum population lives in rural areas.

B Higher demand for food items in the urban areas will lead to investments in infrastructure,
logistics, processing and packaging in rural and peri-urban areas. Correct Answer

C Due to Indian economy after urbanization, which is bound to happen, the rate of urbanization
will increase.

D Because a law regarding this has been passed.

Answer Given By Candidate:B

Question ID:6013
Topic Name:SECTION-I English Language

Question: \Which of the following from the passage is definitely true?
A India comprises about 31 per cent of the country’s population, living in urban areas. Ot Aiiswat

B By 2031, about more than half of Indians will reside in urban areas, due to rapid growth of the
Indian economy in recent years.

€ The rural sector will not benefit due to urbanization.
D Urbanization will net be central to India’s strategy of achieving faster and more inclusive growth.

Answer Given By Candidate:A

Question ID:6014
Topic Name:SECTION-I English Language
Question: Sa|act the correct synonym of “OMINOUS”.

A Present everywhere

B Promising

(]

Threateningly inauspicious Correct Answer

D Jovial

Answer Given By Candidate:Not Attempted

Question ID:6015
Topic Name:SECTION-I English Language
Question: Select the correct synonym of “GAIETY”.

A Misery
B Happiness Correct Answer

C Pride
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D Strong will

Answer Given By Candidate:Not Attempted

Question ID:6016
Topic Name:SECTION-I English Language

Question: Se|ect the correct antonym of “FIERY”.
A Intense

B Burning

¢ Cold Correct Answer

D Fervid

Answer Given By Candidate:Not Attempted

Question ID:6017
Topic Name:SECTION-I English Language

Question: Chppse the correct meaning of the idiom, “Put someone’s shoulder to the wheel”.
A Show distaste for someone’s company

B Too difficult for someone to understand

€ Tobeginto Work hard atatask ¢ rect Answer
D Actin a slow and hesitant manner

Answer Given By Candidate:Not Attempted

Question ID:6018
Topic Name:SECTION-I English Language

Question: §a|act the correct'meaning of the idiom “To hit the nail on the head”.
A To feel healthy

B To be accurately right about something  Correct Answer
€ To enjoy the weather

D To indicate a negative event

Answer Given By Candidate:B

Question ID:6019

Topic Name:SECTION-I English Language

Question: [nsert the correct article in the blank given:
sky is getting dark.

A An

B The Correct Answer

C A

D No article Required

Answer Given By Candidate:B
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Question ID:60110
Topic Name:SECTION-I English Language

Question: | sert the correct preposition in the blank given:

| apologized what | said.

A off
B for Correct Answer
C away
D under
Answer Given By Candidate:B
Question ID:60111
Topic Name:SECTION-I Education and General Awareness
estion: . ; .
Question:ya/hat was the name given to Residential schools set up
under National Policy on Education-19867

@D S MG-C0M9 ZRNLEA LIFS AIFNDR
QRUIRAYLIR QI /'8l QAN WI?

A Navodaya Schools

6L FQUIRLL

Correct Answer

B Ghar Schools
AR TQUIR

C Basti Schools

9 TQYIRE

D Part-time schools

IS -AOARUNIR SQYIR

Answer Given By Candidate:A

Question ID:60112
Topic Name:SECTION-I Education and General Awareness
Question: \What is the name of the pigment in plants that absorbs

sunlight?
E]:dllﬁﬂ?%lél 2ACHYE R DIRVEDR NGPO I @'61?
A Stomata
6D

B Chlorophyll
CRIENAT MM

Correct Answer

Osmosis
Baeq1gd
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D Diffusion
IS

Answer Given By Candidate:B

Question ID:60113
Topic Name:SECTION-I Education and General Awareness

Question: |n which year was the NCERT set-up by Government of
India?

690 98 QNS ARG FIR NCERT G108 QU ml?

A 1947
1947

B 1950
1950

€ 1961
1961

Correct Answer

D 1952
1952

Answer Given By Candidate:C

Question ID:60114
Topie Name:SECTION-I Education and General Awareness

Question: Tha |ndus Water Treaty was signed in which year?
dg an §9 699 94 INAG 6LINMI?

A 1960 Correct Answer
1960

B 1965
1965

€ 1972
1972

D 1956
1956

Answer Given By Candidate:Not Attempted

Question ID:60115
Topic Name:SECTION-I Education and General Awareness

Question: \what is the primary objective of Ek Bharat Shreshtha
Bharat program?

695 RIRG 66F VUG FFIFEIR ¢l Q6w @'6l?

A To promote cultural linkages between States

QURFIRE CRIGA A°YER GG 69ILITE IS

WtsApp/Call- 8596976190
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B To promote spiritual aspects of education

SRR RIS Q6 60ITE F0R]

To promote language unity
Il Y96lq GQIﬂ@@ Al

D' To promote single curriculum

4aq dIoYgrg 69I9ILe 999!

Answer Given By Candidate: A

Question ID:60116
Topic Name:SECTION-I Reasoning

Question: gtatement:
Alfred will be selected for the National Football Team, if he scores very well in the League
Match.
Assumptionl: Alfred will be selected in the National Football Team.
Assumption2: To be selected, Alfred should score very well in the League Match.

Select the correct/best assumptions which definitely follow.
QQG:
Mol I 69 AN 6N FEM AMECTE T RISIA T TM INER TR US|
dana 1: AMETY o WG FoaOm GHERN DY QUL |

ARG 2: 949 62915 696m AMETY Mo F1YIF 69 LS A AN AR QAR

GEe LI96a AGARE KRS A0 / A6SIRE] ANUDEI 0T KA |

A Only assumption 1.is implicit
6690 ARG 1 2L5ES 265

L Only assumption 2 is implicit
69 RN 2 ALEEE 26T

Correct Answer

€ Either assumption 1 or 2 is implicit

ARG 1 F€ 2 2IRGLE 26T

D' Neither assumption 1 nor 2 is implicit
ARG 1 G 2 671619G 2SFGTE g%

Answer Given By Candidate:B

Question ID:60117
Topic Name:SECTION-I Reasoning

‘
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Question: |y 3 certain language “GOLDEN” is coded as “NDLEGO”, then how will “SENIOR” be
coded as?
9 ?ﬁ?ﬁ?‘% WIYIED "6olMEYa" g "NDLEGO" @969 domu'a @olldl, 6669
"IFA"'Y FUR 6T ANAR?
A RINOSE
RINOSE

Correct Answer

B JORSEN
IORSEN

€ ENSIRO
ENSIRO

D NOSEIR
NOSEIR

Answer Given By Candidate: A

Question 1D:60118
Topic Name:SECTION-I Reasoning

Question: |y 5 certain language “HAPPY” is coded as “GBOQX”, then how will “CROSS” be coded as?

98 GEY QISIER "LId" § "GBOQX" MIFER 6@EE KU, 6869 9" AU
6@ Eh 6¥97?

A NTBRS
NTBRS

B BSNTR

BSNTR Correct Answer

C SNBTR
SNBTR

D RSTNB
RSTNB

Answer Given By Candidate:B

Question ID:60119
Topic Name:SECTION-I Reasoning

Question: [ ook at this series: 800, 795, 793, 788, 786, ___

What number should come next?
ge 65l6Ng 64'6Ig: 800, 795,793, 788, 786, ____

AQeaeN 699 9°61Yl 21987

A Tl Correct Answer
781

& 782
782

‘
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€ 783
783

D 784
784

Answer Given By Candidate: A

Question ID:60120
Topic Name:SECTION-I Reasoning
Question: Complete the below series.

AE LM, U

QImge 6561 91 2ag|

AE LM, , U
A R
R
B
Q Correct Answer
Q
C g
S
D T

T

Answer Given By Candidate:B

Question ID:60121
Topic Name:SECTION-I Teaching Aptitude
Question: Keeping students on the right track once they demonstrate progress is vital to helping

them achieve their goals. We should:
qole ﬂ@‘éi? aQl A6 Bl ey 2169 PIT60 RNoQ 6N 6LFlRE MAY LM
QA6 LI K0S AR QJ@QQQ | 26¢1 RSN @@@:

A Provide verbal praise and tangible forms of encouragement

6¢llgle gel°dl 99° 6dI2ILRR 9% Qd 9IS 999

Correct Answer

B Not praise them as they will develop head weight

64T dol°dl @ g Q12 FINE 69N (1999 YR96 A6

C lgnore, it is their duty
2El6Qsl @01, YLl 64LIaw 0l ReSY

D Just ask them to set high standards
6R9R 64T VF FlRea gIae Q@Qla Ly

Answer Given By Candidate:A

‘
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Question ID:60122
Topic Name:SECTION-I Teaching Aptitude
Question: | earning results from what the student does and thinks and only from what the

student does and thinks. The teacher can advance learning only by influencing what
the student does to learn. This is a quote by:
RIS '8 A 99° '8 T2 G 91@& 99° 699n 21 I 967 99° LIg] 58l K6
642 @ea%jﬁ‘l Pde 99 | SIS 6997 RS g%j@l IR /'8l K98 AN dulfe aa
aﬂ@ﬁ aloly 9@!@9@69 | L] 99 QLI

A" Herbert A Simon "
Correct Answer

Qg 9 Jelg

B pakizh CP
a6 @ @

C Yatskov N V
LHoderlew 99 @

D Zubko Alexey
Qe 2IEMEY

Answer Given By Candidate:Not Attempted

Question 1D:60123
Topic Name:SECTION-I Teaching Aptitude

Question: \Which of the following methods assess pre-existing knowledge and skills in

students?

FURGS FRIQ 69N ASTRIBRILIR FRIGA IR 2SI MG QLIS KRS
Q6

A Tests
aoudl
B Portfolios

6EIeS MG

C Self-reports
2lg)- Q6o

D All of the Above
QIEaIS 199 Correct Answer

Answer Given By Candidate:1)

Question ID:60124
Topic Name:SECTION-I Teaching Aptitude
Question: \Which of the following does not belong to a projected aid?

GURGS FRIQ 69T 9IS ARRS ILINGIR ASEHS §6€7?

‘
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A Overhead projector

BRRGEEE 69160

B Blackboard

QUREANE Correct Answer
Epidiascope

\‘I@@\‘.‘B%lq

Slide projector

ARG 69608

Answer Given By Candidate:B

Question ID:60125
Topic Name:SECTION-I Teaching Aptitude

Question: A horseshoe setup of seating arrangement can be particularly effective:

4l Queglia ed ¢ 6492 Q651 NTER GRS 6LIRAIG

A when the teacher wishes to project and discuss the lesson in the front of the class.

666696 I8 6861 AeFSI69 AI0g 69I6aF YS° 2I6MoR] KRG QLIS |

Correct Answer

B In creating an environment where partnership and cooperative learning is expected.

@ 95694 9% QARI69 6Q0I6R ITISION 99° IeISIE 3l IR |

As all rows are more likely to be actively engaged.

641629 e1D AIT U6 AITER TEARS 6891Q AR ZRYS |

D To converse and immediately plunge into discussions with peers seated diagonally.

@2IQIEI KRR ¥Q° J6oP L6wP QQeIQl QlNAIRE 9L 2RISR FQQ! |

Answer Given By Candidate:C

Yopic Name:SECTION-1 Teaching Apitude
Question: i3] aids are instructional aids which are used in the classroom. These
6N dLle! @el @@8[5} g, 6ERR f8I0e Aelae AL
6961 LeRN QUSLY 99 | gL
A arouse the interest of learners.
siQlher 2ol Wlgs aogl

help the teachers to explain the concepts easily.

AUAGNYEG AER6R RSN IVGCIST ALY FRG |

C encourage students learning process.
flesicia d88 daalg QEILe aag|

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

D All the above.
QAW L1 |

Correct Answer
Answer Given By Candidate:D

Question 1D:60127
Topic Name:SECTION-I Teaching Aptitude

Question: Group work in classrooms:

69l6l19) 260 6ol @I<dy:

A Encourages sharing of Knowledge.

R AL dLlag 6dIITE D62 |

B Encourages diverse thinking.

QAR CERIUG 6ILES FR2IN |

C Encourages Cooperative Learning.

AeIQlel GiSIg 69I€IEe A6 |

D All the above.
RQUCAD 41D | Correct Answer

Answer Given By Candidate:D

Question ID:60128
Topic Name:SECTION-I Teaching Aptitude

Question: g1k education officer performs his duties to strengthen the SMDCs. The full form
of SMDCs is

I9¥AR9q 99¢ 2091 IR 9F A8 2SI §6 QNS SRIASE |
IaNEBER 994 Qe 6208

A School Management and Development Committees

FQUIRC AABING| B QeAe 66

Correct Answer

School Management and Designing Committees

ARG IARIRGI B CRING° KT

€ School Municipal and Development Committees

FQUIRL 6410 B QA 966

D School Minorities and Development Committees

QRUIRL A°SUIMG B QgKe A6

Answer Given By Candidate: A

Question ID:60129
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Focysing on the content that is more important by eliminating the non-essential
content helps in:

216-2SUINEYR FRNS9T 90 23 2e FRegd 8099 AU6ER I 69916
QLI K6

A Time Management

Al ACIRG|

B Ranking priority
R4S YISl

Promoting the most important and urgent quadrant

d90IQ Fedd ¥e° @ SPHIg 6dIATE aQQl

D All of the above

QUIEUD L1

Answer Given By Candidate:D

Correct Answer

Question 1D:60130
Topic Name:SECTION-I Teaching Aptitude

Question: B1ack-board can be included in which group/category of teaching-aids?

amldo'lq 699 69lI91/656NR FVQIT-ALIAR 6E6N16D 318@@
AALRANG?

A Audio aids

2e6 9196

B Visual aids
@e6 9LlI9e!

Correct Answer

C Audio-visual aids
2PB-0g2Im LLING!
D None of the above

QU6 FRIR 6F16TT g6%
Answer Given By Candidate:D
Question ID:60131

Topic Name:SECTION-II Odia Language

et IRy, AI0R, QAR 98 96 [IS1A S8T @9?
A QRel

b g

c ngl (_‘(_)I'I‘CCl :\IISV\'C]'

‘
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b oIgell

Answer Given By Candidate:Not Attempted

Question ID:60132
Topic Name:SECTION-IT Odia Language

Pt o6 2RI SR FRIQ RGRR ADY]! S8T @ ?
Ade Correct Answer

B 2lIcI6ME

¢ QER@

P cRml

Answer Given By Candidate:D

Question ID:60133
Topic Name:SECTION-II Odia Language

Question e QIRT SIRG 991 HINQIG 6928 I'@6R IR
QAR F19T @ IR 619 A6S?

b geqe de

b Q6qaQ AIT2Q! 69

C @24 156 qé@ ggﬁ@ ae Correct Answer
P Q°QUR1 €18

Answer Given By Candidate:C

Question 1D:60134

'I‘upiF :\'atne—:-.*:ll{("l‘l()N-I] Odia Language
et Sea ae el q'ar
A aee

* One

¢ g Correct Answer

D@Q

Answer Given By Candidate:C

Question 1D:60135
Topic Name:SECTION-II Odia Language
Question:

AR AEAYS 26S ?
A geediol Correct Answer
v Qae

WtsApp/Call- 8596976190
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* agid
Answer Given By Candidate:B
Question ID:60136

Topic Name:SECTION-I1 Odia Language

Quesii(m:,ﬂalgﬂ, S26Q GQQU @ggq ol @USYIN 6@|@é7

A 9
B
a9
C
9l
D aal Correct Answer
Answer Given By Candidate:D

Question ID:60137
Topic Name:SECTION-I1 Odia Language

Qustion: QARG QRTR 212 61?7

A AGIIRS QU

B 21 @19

¢ QA @ 699l Correct Answer
D f’lgﬂ

Answer Given By Candidate:C

Question 1D:60138

Topic Name:SECTION-II Odia Language

@ elel 2I6RIG 626M SITR 9g S P2 69 AN I' 69%IFS
6RIRSIENS 218 a'&r?

* 2921 815 K9l

5 QRlIER AUF CAME ARIE 69Q1  Correct Answer
€ UG TANG P2 81 69 RSN

P eI 996 69RI @9Ql

Answer Given By Candidate:B

Question ID:60139

Topic Name:SECTION-11 Odia Language

S RlIERI e, B LG 26T OF- OB CRAIGISITR G661 K6l §&7
b eee fleg 296 A4S &
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b AQY AIeee A7 @9
¢ 3@ Q9 AI9R9 AFIS S5QI 956

D oa aqe oa LITEQ Correct Answer
Answer Given By Candidate:D

Question ID:60140

Topic Name:SECTION-II Odia Language

Question: 6AER 200G 1@ ?

A ARl Correct Answer

B 2o

€ QIR

L, 41312 I}

Answer Given By Candidate:Not Attempted

Question ID:60141
Topic Name:SECTION-I1 Odia Language

Question: cOEE UGENR €10 ?

A i
@U&] Correct Answer

B Q9a

© deél

D 2ine

Answer Given By Candidate:Not Attempted
Question ID:60142

Topic Name:SECTION-II Odia Language

Question: SQ@‘@ ﬂl@l Ca ?

A
Gl Correct Answer

B

QI
C Qq
’ Qg

Answer Given By Candidate:Not Attempted

Question ID:60143
Topic Name:SECTION-II Odia Language

Question: AICIQIOG PEEITN ZIQ 6QE! TSI Q6T UaRe ?
A RQIOR Correct Answer

S~ Vo ([a [ala)
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C QgIeR

D QIEQoa

Answer Given By Candidate: A

Question ID:60144
Topic Name:SECTION-II Odia Language

Question: CNIARIG AFEY BIPQ QAE | F0I6Q “ORl’ 6QE DESIEN ?
A QIBAPR  Correct Answer

B Qeeoa

€ gegeoa

P Qgoloq

Answer Given By Candidate: A

Question ID:60145
Topic Name:SECTION-IT Odia Language

LA QAR QITIARIR QF gRel GBR deq SR QEIAIN?
AR

* M@  Correct Answer

C éﬂl@

P reae

Answer Given By Candidate: A

Question ID:60191
Topic Name:SECTION-II Mathematics

Question: A an buys anarticle for Rs. 50 and sells it for Rs 80. Find his gain percent.

@68 Q43 69T AGEG 50 FRIEA A&l 80 TRIER IF FAUT | 'R AIK
go9s 661Rg

A 30%
30%

B 25%
25%

C 6%
6%

D 60%
60% Correct Answer

Answer Given By Candidate:D)

Question 1D:60192
Topic Name:SECTION-II Mathematics

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

Question: g eshav invested Rs. 72,000 in a bank at the rate of 4% per annum. At simple

interest, he got Rs. 92160. How long did he invest the money?

69419 QIR 4% LINER IR QUIRER 72,000 O F6E ARUEA | ARIKE
QRI6R 69 92160 TR TINY6M | 69 6068 A6 MR O FH6QIT FREM?

A 8years

g8 qd

B Oyears
0 Q¢

C 7 years

7 od

Correct Answer

D 10 years
10 9

Answer Given By Candidate:Not Attempted

Question ID:60193

Topic Name:SECTION-II Mathematics

Question: Find the compound interest on Rs 10000 compounded quarterly for 9 months
at the rate of 4% p.a.

10000 G A6R 9 7l AR 6SANTR AUBS 4% I6 QTR LIN6EA SR
2INRE KOG |

A Rs 1400
Rs 1400

B Rs303.01

Rs 303.01 Correct/Answer

C Rs 1248.64
Rs 1248.64

D Rs1030.30
Rs 1030.30

Answer Given By Candidate:Not Attempted

Question ID:60194
Topiec Name:SECTION-1I Mathematics

Question: The LCM and HCF of two numbers are 432 and 72 respectively. If one of the
numbers is 216, what is the other?

QRG L°FMIR LCM 9Q° HCF LRIFEET 432 99° 72 | €G 6519 Qo6HI
216, QY °GIUIT @'61?

A 144

Correct Answer
144 .

B 164
164

C 298
298

‘
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D

31104
31104

Answer Given By Candidate: A

Question ID:60195
Topic Name:SECTION-I1 Mathematics

Question: The ratio of number of red and blue coins in a bag is 5 ; 4. If there are 16

blue coins, find the number of red coins in the bag.

49 QI 69 291 MIM 99° Q1R €91 LU AGAIS 5 : 4 26T |
4G 16 G 1m J91 A, 6969 UIFER 2 MM IR A°HUI GLG |

A

16
16

18
18

20

Correct Answer
20 3

22
22

Answer Given By Candidate:C

Question ID:60196
Topic Name:SECTION-I1 Mathematics

Question: A-B is in the ratio 6: 3. If the sum of numbers is 81, find A and B.
A: B 2Qdl% 6: 3 269 | €S LoslIN6LID 81 26T, A 9R° B INIR aRs |

A

27 and 54
2799° 54

54 and 27

54 Q° 27 Correct Answer
40and 41

408%9° 41

41 and 40
419940

Answer Given By Candidate:B

Question ID:60197
Topic Name:SECTION-IT Mathematics
Question: |f the length of one diagonal of a rhombus is 10 cm and the length of the other diagonal is 24 cm,

then the area of the rhombus is sq. cm.

AT 99 QAR 69115 KR 636l 10 cm 99° AGY RQ 6TClY 24 cm, 6869 QAR CASTR

A

B

‘
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C 360
360
D 480
480

Answer Given By Candidate:Not Attempted

Question ID:60198
Topic Name:SECTION-1I Mathematics
Question: A circle with a diameter of 10 units has a radius of:

10 98F QUIK 8% ¥R Qa9 YIS 69R8:

A 5units

5 Q.ﬁg\' Correct Answer

B 10 units

10 YA

€ 20 units
20 Y89

D 25 units

25 gag
Answer Given By Candidate:A

Question ID:60199
Topic Name:SECTION-1I Mathematics

Question: A nolygon with five sides is called a:

Q18 die Y8Y IR FLRAG LI

A Square

Qolgm

Heptagon

a9ee

C Pentagon
el

Correct Answer

D Hexagon
VLR

Answer Given By Candidate:C

Question ID:601100
Topic Name:SECTION-IT Mathematics
Question: |f 3 system of equations has no solution, what can we say about the equations?

A ARG FEIMA 69163 AN GIF, 6869 ARG TAAES. 26 76l FRARSI?

A The equations are independent and inconsistent

deN@odigea ARCA] 99° 296G 269

Correct Answer
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B The equations are dependent and consistent

ANRQEPEa AT 9Q° AP 26T

C The equations are dependent and inconsistent

ANRAdIgEa 60 99° A9ere 26T

D The equations are independent and consistent

AENRAEIYER AU 99° AHPS 269

Answer Given By Candidate: A

Question ID:601101
Topic Name:SECTION-II Mathematics
Question: [f 3 system of equations has infinitely many solutions, what can we say about the equations?

€19 9@ ANAAE YRR ARLES AFRIIQ AR, 66969 AMAVE FVACK 2661 '8 KRUAIQRI?

A The equations are independent and inconsistent

ANRIAEPYLER AT 99° AL 268

B The equations are dependent and consistent

ANIAEYES 6 99° AGPe 26T

Correct Answer
€ The equations are dependent and inconsistent

ANadigea A6l 99 A9ere 26T

D The equations are independent and consistent

FENREIGEa AU 99° dete 265

Answer Given By Candidate:B

Question 1D:601102
Topic Name:SECTION-IT Mathematics

Question: s /hat is the union, of {a, b, c}and {c, d, e}?
{a, b, c} 9Q° {c, d, e} L°6HIS! K'El?

A {a,b,c, d e}
{ai bi cf df e}

Correct Answer

B {a, b, e}
{a, b, e}

C {c}
{c}

D {3, ¢, d}
{a, c, d}

Answer Given By Candidate: A

Question ID:601103
Topic Name:SECTION-II Mathematics
Question:
Which of the following is true for the intersection of two disjoint sets?

FERYS FRIQ 6965 9RF USEE 6999 UG6RS AR 96Y 2667

‘
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_ ol Correct Answer
Je68a 97 o8 649" 26T

B The intersection is the first set itself

ge6ga T6a@ 9a gelrl 699 26¢

C The intersection is the complement of the first set
UP6RS 620 el 649 Joia

D The intersection is the union of the sets

Jo6RT 6208 6995Fea 2646l

Answer Given By Candidate:Not Attempted

Question 1D:601104
Topic Name:SECTION-II Mathematics
Question: \What is the square of 5a - 2b?

5a - 2b Q QEl¢]M 6R6E 6947

A 25a% + 4b?
25a* + 4b?

B 25a2-20ab + 4b?

2542 - 20ab + 4b? Correct Answer

C 25a% + 20ab + 4b?
25a? + 20ab + 4b?

D 2532-4b?
25a? - 4b?

Answer Given By Candidate:B

Question ID:601105
Topic Name:SECTION-11 Mathematics

Questiody What is the square of -5a?

5a Ol Q)R 6966 628972

A _10a
-10a

B 2532
2552 Correct Answer

C 2532
-25a?

D 10a
10a

Answer Given By Candidate:B

Question ID:601106
Topic Name:SECTION-II Social Science
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Question: \Which of the following metal has been used around 1000 BC

during later vedic period?

doGel 6307 RINER GYMHS AIG FRIQ 696 SRS

1000 LILAER QUQLE 6LINS?

A Copper
(321

B |ron
@Ql Correct Answer

C Bronze

@l°<
D Steel
m
Answer Given By Candidate:A

Question ID:601107
Topic Name:SECTION-II Social Science

Question: Nyinuddin Chishti was a famous
NGEe 08 K6dl g9S ag 2J6m |
A Sufi
qer
B Christian
SR2Q

Correct Answer

¢ Hindu

ey

D jain

6wg

Answer Given By Candidate:B

Question ID:601108
Topic Name:SECTION-II Social Science

saint.

Question: \Who raised the slogan “Freedom is my birth right and |

shall have it”"?

@ "GRINGGI 6£1IR GFOS 2RIFIR 99° €] 99l ARG

6ol 6Qm2)ml?

A Bal Gangadhar Tilak
Q]m ﬂ&?lua @mg} Correct Answer

B Bipin Chandra Pal
Qdq o9 AR

WtsApp/Call- 8596976190
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€ Raja Rammohan Roy
A QAUNCLNLD U

D Badruddin Tyabji
Q9aY GUISWT

Answer Given By Candidate: A

Question ID:601109
Topic Name:SECTION-II Social Science

Question: |5 \which year Bengal was partitioned by the British in
communal line?

69w ad QErmlq N°ENWCCH AIFIQIOS QTR YRR

aoelem?

A 1900
1900

B 1905
1905

¢ 1911
1911

Correct Answer

D 1921
1921

Answer Given By Candidate:B

Question ID:601110
Topic Name:SECTION-IT Social Science

Question: |y the year 1976 , how many fundamental duties were
introduced in Indian constitution under Article-51A?

1976 C19L16Q QIQG 1L ALRIFER IAI- 5TA 2RINFED
6266 6600 AR NS FUAIRMI?

A

9
9
B 8
8

C 11
11

I 10
10

Correct Answer

Answer Given By Candidate:B

Question ID:601111
Topiec Name:SECTION-II Social Science
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Question: \\/hich of the following is not a classification/categories of
Directive principles of state Policy in Indian constitution?

GIMYS FRIP 676E AIOSIE IAUINEH AURY TG
Q6EER MER YNNG /65611 §6E?

A Socialistic principles

AelRala 919

Gandhian principles
SINQIS 16

C  Dictatorial principles
G269 9,@ Correct Answer

D |iberal and intellectual principles

QQIATIG Y9° 69I9F 216

Answer Given By Candidate:C

Question ID:601112
Topic Name:SECTION-II Social Science

Question: Tha names of the states and union territories are available
in which schedule of the Indian constitution?

RURGIN ARIER 699 AGIL16R AURY I9° 698 FIE6
AN LI QANG 2AR?

A 1%t schedule
161 ?JEEQ’]AQ'I Ceorrect Answer

B 2nd schedule

261 g9

¢ 3 schedule

36 219451

D 4th schedule

42] 29951
Answer Given By Candidate:Not Attempted

Question ID:601113
Topic Name:SECTION-II Social Science
Question: \Who is the chief executive officer of Zilla Parishad?

@Rl JEQQ F)5Y RINYTILT 2RJRIN G ?

A Zilla Parishad Chairman
ARl 99 2IY

B Project officer, DRDA
dag AN, G2UNGY

‘
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District Collector
QRIYIR

Correct Answer

D District Sub-Collector
QUERIAIR

Answer Given By Candidate: A

Question ID:601114
Topic Name:SECTION-I1 Social Science
Question: How is the Naeb Sarpanch of the Gram Panchayat elected?

gifl AFIASR FNG 908 RUR FAI0E gAR?

A Directly by the villagers
RIS FIEIQIE Il

B Nominated by the Sarpanch
dodiw ¢l

€ Nominated by the Gram Sabha
gleldwl FI9U F16Q1MS

D Elected by the ward members
gl deua QU ralaifaln) Correct Answer

Answer Given By Candidate:D

Question ID:601115
Topic Name:SECTION-II Social Science

Question: \Which natural region is best known for the production of grapes?
69 dIgee 28n AFAQYCH a 2@ wéllgléll?

A Hot deserts

QIR FIQEET

B Cold deserts
214l QR

C  Equatorial

Sl

D Mediterranean

faelel<| ol oLt

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID:601116
Topic Name:SECTION-II Social Science
Question: NMore than 90% of biomass of the world is in:

2R 90% Q 2R 66 YT 2AR:

‘
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A Tropical rain forests

QERG of ol aorm

Correct Answer

B polar regions

641 28R
C  Freshwater wetlands
R @R 2GRE

D Oceans

L1499

Answer Given By Candidate:Not Attempted

Question 1D:601117
Topic Name:SECTION-II Social Science
Question: is the largest source of electricity in India.

(LRE BIAGER IGR 490IQ 9 Qg |

A Coal
6@l oml

Correct Answer

B Qil
6om
€ Natural gas

dI9ee oI

D |ignite
REQING

Answer Given By Candidate: A

Question ID:601118
Topic Name:SECTION-II Social Science
Question: The valley which is most rich in coal deposits is:

6QIRMl FINGA IG0IQ 2R TE|F QTSI 6LAE:
A Brahmaputra Valley

9948 QUSYR!
B Mahanadi Valley

LI9SR

C Damodar Valley

QELYR YUdGYR]

Correct Answer

D Godavari Valley

60l QAL

Answer Given By Candidate:C
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Question ID:601119
Topic Name:SECTION-II Social Science
Question: Yoy observe that you cast no shadow as you stand in bright

sunlight on December 21 at 12 noon. So you must be around:

@690 21 GIQEl F1RIIg 129169 geia YYRadea 02l 681R2QIR 2NIAE 6Q161S
Sl QIR 696l FRE | 66¢) 218 FaLe 2USIASIER 269

A the Equator
@ﬂ@ 6xll

B the Tropic of Capricorn
£19% 6916l

Correct Answer
C the Tropic of Cancer

alalal Nl

D the North Pole
@G5 6¢1R

Answer Given By Candidate: A

Question ID:601120
Topic Name:SECTION-II Social Science
Question: The shape of the earth is:

Y21 EJIG]‘JEH? LU
A Triangle
LealsNa

B Circle
Qalel%

C  Oblate spheroid
MG 66w

Correct Answer

D Sphere
6ollma

Answer Given By Candidate:C

Question ID:601121
Topic Name:SECTION-II Science
Question: Ga5e5 can be liquefied by:

QUILGER FIRGS AR CAR 6LIRAER:

A increasing pressure and decreasing temperature

old 9& 9Q° Glasliel L9

Correct Answer

B decreasing pressure and increasing temperature

Qlg 219 99° slaalel &

‘
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C decreasing both pressure and temperature

W 019 NL° ClULlGl €l K60

D increasing both pressure and temperature

QEw 01g 99° SISl 9§ K6

Answer Given By Candidate: A

Question 1D:601122
Topic Name:SECTION-II Science

Question: A substance that vapourizes readily at room temperature is called:

6RI0Q GIAAISIER ALRER FIYS 62RQ2Q GQI?jﬁi Quledi:

A Volatile liquid
g o 9912l

Correct Answer

B Non-volatile liquid

28-282 som Al
C Fragile liquid
QR Sam 9912

D Non-fragile liquid

28-99R SR a9l

Answer Given By Candidate:Not Attempted

Question 1D:601123
Topic Name:SECTION-II Science

Question: Eva po ration causes:

QIYIAAEIAN KINE:

A Cooling

&l

Correct Answer
B Heating
SIoEl
No change in temperature
GIUFISIEn I0QEe QI

D None of the above

QUEAUS FRIQ 6RIELT 6%l

Answer Given By Candidate:B

Question 1D:601124
Topic Name:SECTION-II Science
Question: \Which one of the following reactions is a balanced reaction?

FIRSIE OGN FRIQ 699G 9@ gRe 9ET 2657

‘
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A Mg(s) + H,S04(aq) = MgS0,(aq) + H,(g)
Mg(s) + H,S04(aq) — MgS04(aq) + Hz(g)
B Mg(s) + Cl(g) — MgCl(g)
Mg(s) + Cl(g) — MgCl(g)

Correct Answer

€ Mg(s) + Cl(g) —» MgCl,(s)
Mg(s) + Cl(g) — MgCl,(s)
D" Mg(s) + 0,(g) - Mg0,(s)
Mg(s) + 02(g) —» MgO0,(s)

Answer Given By Candidate: A

Question ID:601125

Topic Name:SECTION-II Science
stion: : . 3 . 2 § .

Question: \hich one of the following reactions is a combination reaction?

FURYS YT FRIQ 6995 98 AFe YT 26572

A Zn(s) + He(g) - ZnHe
Zn(s) + He(g) = ZnHe

B CuS04(aq) + Zn(s) —» ZnS04(aq) + Cu (s)
CuS04(aq) + Zn(s) = ZnS0,(aq) + Cu (s)

C Ca(s)+ Cl,(g) — CaCl,(s)

Ca(s) + Cly(9) ACagints) Correct Answer

D None of these
QUEUS FRIQ 6AETT G6L

Answer Given By Candidate:C

Question 1D:601126
Topic Name:SECTION-II Science

Question:\\/5k done by a centripetal force is:
@ 6Q519 QIEa1 QI noUdInd<l Iy 620&:

A Positive

ARAUER

Negative
aaolf]a

Zero
oa

D Infinity
2AEIe|

Correct Answer

‘
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Answer Given By Candidate:Not Attempted

Question 1D:601127
Topie Name:SECTION-II Science

Question: The electric bell rings on the principle of which energy conversion ?
699 35} Qe Q186 6@‘{_[‘1@51‘ A& QIR2IN?

A Electrical energy to sound energy

QQUS SaQ 6w 69

Correct Answer

B Sound energy to electrical energy

a8 FR0IQ 2102 K8 63948 613

C  Electrical energy to light energy
@4‘1‘49 ﬂ@@ 219¢! Q5 2RISR S
D Chemical energy to light energy

QUABER FB0IQ 2L AR ACRAIR G5

Answer Given By Candidate:A

Question ID:601128
Topic Name:SECTION-II Science

Question: \what does a horizontal line indicate on acceleration-time graph?

QOEl-LE1Ch QPO Ia QLIS 606! &6l T'Im2lN?

A Constant acceleration

Qtllole ol

Correct Answer

B Zero Acceleration

§84 904

€ Constant Velocity
@ellole 69%l

D" Zero Displacement

gay Qglae
Answer Given By Candidate:A

Question 1D:601129
Topic Name:SECTION-II Science
Question: . " 5
Which is not a function of the cytoskeleton of the cell ?

6R90 69189 ARGCSIEACATER 1e QI EJ:G@.J?

A Deformation of cell membrane
6@ 6£168L e @Gi{;‘

Correct Answer

B Support of organelles
Zdleena gaede
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C Maintenance of cell structure and shape

618 0 ¥9° 2IGEA AVEIEIVE

D Intracellular transport

RECLRMIR IRLS

Answer Given By Candidate:Not Attempted

Question ID:601130

Topic Name:SECTION-II Science
uestion: z 5

2 A living cell was first seen and observed by

@ @19e 69lY galetl K19 69l%ImI 49° diffG @U@ |

A Anton Van Leeuwenhoek : _
?3]|6Q-|Q @l'ff @@6@96@]’5{ Correct Answer

B Robert Brown
6RUG GlAQ
C  Rudolf Virehon

QeR, 060!

D Karl Nageli
QIn FI6sIR

Answer Given By Candidate:Not Attempted

Question ID:601131
Topic Name:SECTION-I1 Seience

tion: P
Question: e most primitive non-vascular land plants are

d90IQ GI2IE1R 2F-QIGMIQ R ARLGYLR 6968 |

A Thallophytes

2lieRICPIRS

B Bryophytes
QI

Correct Answer

C Pteridophytes
6ELITING,

D Algae

68lQIm
Answer Given By Candidate:Not Attempted
Question 1D:601132

Topic Name:SECTION-II Science
Question: £\ vers with stalks are called

QIR 29I ARG QeIL |

‘
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A Sessile

cadem

B Pedicellate
6?]@6({?69{1?3‘

Correct Answer

C Florets
6LI6RE,

D Branched
sligll

Answer Given By Candidate:Not Attempted

Question ID:601133
Topic Name:SECTION-II Science
Question: Monocotyledonous seeds contain one large cotyledon called

6€1I6QI6RITIAMELIRY ABER QIFR 99 99 6RITMER 21 |

A Coleoptile
6@IEMBAS DM

B Scutellum

QETRE]

Correct Answer

€ Hilum
amel

D Aleurone layer
2iemeUq 4

Answer Given By Candidate:Not Attempted

Question ID:601134
Topic Name:SECTION-II Science

uestion: s
Q Eubacteria means

RAUICFRRUR 212 6228 !

A False bacteria

glell @191g]

B True bacteria

e @191¢] Correct Answer

C Hybrid bacteria
@ta@q @1Q1e]

D All of the above
QWUEIW el

Answer Given By Candidate:Not Attempted
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Question ID:601135
Topiec Name:SECTION-II Science
Question:

is a gelatin-like product made primarily from the red algae.

@ WEME'Q 90 RYIQ LIL! o8 MM 651Q1RR d4% 6«ImelNg |

A Starch
olle

B Agar
2ol Correct Answer

Glycerol
HDMEL O]

D Guar gum

YR Sl

Answer Given By Candidate:Not Attempted
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